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Section A

Question 1 (12 marks) 

CoffeeRUs Ltd is a successful cafe chain that was founded by Marika Leigh. The market 
share controlled by CoffeeRUs has reduced from 30% in 2016 to 18% in 2017, which Marika 
believes could have been due to failure to change their old espresso machines. Marika is 
hoping to increase their market share in 2018 in order to maintain its success. 

a.     Define the business objective ‘to increase market share’. 

b.     Identify the type of business structure used by CoffeeRUs and outline its characteristics.
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c.     Explain how the activities of the following areas of management responsibility can 
        lead to the achievement of the business objective ‘to increase market share’ at 
        CoffeeRUs. 
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Marika believes the reduction in market share could also be due to failing to effectively manage 
employees in the workplace.

d.     Explain the relationship between managing employees and the business objective ‘to 
        increase market share'. 3 marks
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Question 2 (5 marks) 

With reference to contemporary business examples, explain how the two key approaches to 
strategic management identified by Porter’s Generic Strategies can be used to gain a competitive 
advantage.
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Question 3 (14 marks)

A popular company in Sydney, CamMan Pty Ltd, manufactures cameras and associated accessories. 
The owner of CamMan is finding the rent for their current manufacturing site to be quite expensive 
and so, have decided to move their operations rurally in order to reduce costs. The key performance 
indicator (KPI) data below provides information about the performance of CamMan before and 
after shifting rurally.    

a.     Explain one KPI, other than the ones analysed above, that can be used to assess the 
        performance of CamMan before and after undergoing business change.
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b.     Analyse the extent to which the shift to a rural site has improved CamMan’s 
        business performance, with reference to Figures 1 and 2.  

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

4 marks

SECTION A - Question 3 - continued
TURN OVER



c.     Explain one management strategy that can be used to respond to one KPI from above 
        and position CamMan for the future.

d.     Explain how managers can be a driving force for the shift to a rural manufacturing site.
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Employees at CamMan are reluctant to shift  to a rural site and, consequently, are resisting this 
change. 

e.     Explain how the high-risk strategy of manipulation can be used to reduce employee 
        resistance to the shift to a rural site.
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Question 4 (5 marks)

Explain the relationship between being a ‘Learning Organisation’, as identified by Senge (1990), 
and the concept of business change. In your response, refer to two principles of Senge.
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Question 5 (10 marks)

Operations managers can implement a variety of operations strategies in the workplace. 

Evaluate two different operations strategies - one in relation to technological developments and the 
other in relation to quality management. Explain how one of these strategies can be used to improve 
the efficiency of operations and one can be used to improve the effectiveness of operations. 
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Question 6 (4 marks)

Compare the training options of on-the-job training and off-the-job training. 
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SECTION B - Case study

‘P-Balls’ is a popular protein powder manufacturing company in Australia. P-Balls distinguishes 
itself  from  other  health-oriented  companies  that  manufacture  protein  power  through  their 
environmental vision of wanting to reduce plastic. 

Below is a step-by-step guide of how their unique protein powder product works, which can be 
found on their website:

P-Balls sells these protein powder balls in small, medium and large-sized boxes which customers 
can refill with more balls whenever they need to ‘top up’. However, this strategy of generating sales 
proved  unsuccessful  during  the  2020  COVID-19  pandemic  where  consumers  were  unable  to 
continue their fitness goals at their local gyms and so, did not see the need to purchase protein 
powder balls. P-Balls was negatively affected as a result - they were unable to meet their financial 
objectives of making a profit and meeting shareholder expectations and their market share took a 
hit. 

Most importantly however, stock that was manufactured at the end of 2019 for the 2020 year had to 
be discarded as waste as they expired before they could be sold. Data for the level of wastage at the 
end of 2019 and the end of 2020 can be seen in Figure 1 below. 

Post-pandemic, P-Balls are hoping to rebrand and introduce new product lines for consumers. This 
rebranding will start with renewing the terms of agreements for P-Balls’ senior employees. 
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Question 1 (3 marks)
Describe how P-Balls can use agreements as a method of determining wages and conditions for 
work.

Question 2 (3 marks)
Explain the role of human resource managers in relation to the process of creating agreements at P-
Balls.
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Question 3 (6 marks)
Explain how one lean management principle can be used to improve the efficiency of P-Balls’ 
operations. In your response, refer to ‘Figure 1’.
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Question 4 (5 marks)
Explain how the principles of Lewin’s Force Field Analysis theory can be applied to ensure that the 
introduction of new product lines at P-Balls is successful.
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Question 5 (6 marks)
Explain the key elements of the operations system of P-Balls.
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Question 6 (2 marks)
Outline one corporate social responsibility consideration that P-Balls takes into account with 
reference to one key element in question 5.
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SECTION A 

Ques.on 1 (12 marks)  

a.     Define the business objec.ve ‘to increase market share’. [2 marks] 
   

Extension notes: 

 

b.     Iden.fy the type of business structure used by CoffeeRUs and outline its characteris.cs. [3 
marks] 

Extension notes: 

1 When defining business objec5ves, reference to a .me component is required otherwise full marks 
cannot be awarded. In this defini5on, I have used the phrase “in a given period of .me.”

2 Many students oFen confuse the business objec5ve ‘to make a profit’ with ‘to increase market share’. 
Double check to make sure you have iden5fied the correct objec5ve before wri5ng!

2

1

1 As per the context provided, CoffeeRUs ends with “Ltd” - this indicates it is a public listed company. 
Note that if CoffeeRUs was to end in “Pty Ltd”, it would be classified as a private limited company.

2 Another feature that can be men5oned is that the shareholders (owners) are subject to LIMITED 
LIABILITY - this means that they are only responsible to the extent of their original investment for any 
debt incurred.

2

1



c.     Explain how the ac.vi.es of the following areas of management responsibility can  
        lead to the achievement of the business objec.ve ‘to increase market share’ at  
        CoffeeRUs.  
 
• Sales and marke.ng 

Extension notes: 

 

• Opera.ons 

1 A suitable structure to respond to “areas of management responsibility and business objec.ves” 
ques5ons is to: 
1. DEFINE the area of management responsibility 
2. Outline the ACTIVITIES of that area of management responsibility 
3. Relate these ac5vi5es to the BUSINESS OBJECTIVE (implicitly or explicitly define the objec5ve here) 

1



d.     Explain the rela.onship between managing employees and the business objec.ve ‘to  
        increase market share'. [3 marks] 

Extension notes: 
1 For any ques5on that requires an explana5on of the “rela.onship” between two concepts, you should 

first state WHAT the rela5onship is before EXPLAINING why this rela5onship exists. 

For example, I have stated the rela5onship is that the management of employees can LEAD to the 
achievement of the objec5ve ‘to increase market share’.

2 Note that the management of employees refers to the employment cycle of hiring, training and 
termina5on. You should refer to one of these components when responding to this ques5on. 

Alterna5vely, instead of wri5ng about training, the hiring of staff with exper5se in coffee making (such 
as a barista) can lead to improved quality of coffees made. This can lead to improved sales compared 
to compe5tors in a given period of 5me (the objec5ve ‘to increase market share’).

2
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Ques.on 2 (5 marks)  
 
With reference to contemporary business examples, explain how the two key approaches to 
strategic management iden.fied by Porter’s Generic Strategies can be used to gain a compe..ve 
advantage. 

Extension notes: 
1 Ensure that you make reference to a compe..ve advantage in your response as this is the limi5ng 

phrase of the ques5on. 

1

1

1



Ques.on 3 (14 marks) 

a.     Explain one KPI, other than the ones analysed above, that can be used to assess the  
        performance of CamMan before and acer shicing rurally. [2 marks] 

Extension notes: 
1 When responding to this ques5on you must explain what a favourable AND unfavourable change to 

that data would indicate for the business’ performance. 
2 Alterna5ve key performance indicators that could be explained include: 

• The number of workplace accidents  
• an unfavourable increase may indicate the shiF rurally was unsuccessful because the 

shiF has meant cheaper facili5es are being used that are less safe and secure 
(thereby, increasing injuries sustained). 

• a favourable decrease may indicate the shiF rurally was successful because the 
reduced opera5onal expenses allows CamMan to invest profits back into developing a 
safe work environment (thereby, reducing injuries). 

• The number of sales  
• an unfavourable decrease may indicate the shiF rurally was unsuccessful because the 

shiF has meant cheaper facili5es (with less efficient technology) are being used, 
leading to a reduc5on in the quality of cameras produced (thereby, reducing sales).  

• a favourable increase may indicate the shiF rurally was successful because the 
reduced opera5onal expenses allows CamMan to invest profits back into improving 
the quality of cameras manufactured and implemen5ng promo5on strategies (such as 
adver5sing).  



b.     Analyse the extent to which the shic to a rural site has improved CamMan’s  
        business performance, with reference to Figures 1 and 2. [4 marks] 

Extension notes: 
1 A suitable structure when analysing each key performance indicator is to: 

 1. DEFINE the specific key performance indicator 
 2. Iden5fy the TREND indicated by the key performance indicator data  

• Reference to whether the change is favourable or unfavourable must be made 
• Reference to whether the change was an increase or decrease must be made  

 3. Outline a REASON as to why the key performance indicator changed in the specific way it did 
 4. State, whether to a LARGE OR SMALL EXTENT, the performance of the business has improved 
 or not based on the key performance indicator data trend.

1



c.     Explain one management strategy that can be used to respond to one KPI from above  
        and posi.on CamMan for the future. [3 marks] 

Extension notes: 
1 A suitable structure when explaining a specific management strategy is to: 

 1. DEFINE the specific management strategy. 
 2. Explain HOW the management strategy can be used by a business to CORRECT an internal/ 
 external business issue. 
 3. Outline how the management strategy will POSITION the business for the FUTURE. 

2 Alterna5ve management strategies that can be used to respond to the level of staff turnover include a 
change in management styles, a change in management skills and staff training! See below for an 
explana5on: 

• Change in management styles: for example, shiFing to a par5cipa5ve management style can 
increase staff morale as employees feel more included in the workplace (and thereby, would be 
less likely to leave and be replaced).  

• Change in management skills: for example, two-way communica5on skills can be used (instead 
of one-way communica5on) to iden5fy reasons why employees are leaving (and being replaced) 
- solu5ons can then be implemented to address these concerns. 

• Staff training: the reason why more employees may be leaving (and being replaced) is due to 
unfamiliarity with new opera5ng machinery at the rural manufacturing site. Hence, staff training 
can be used to correct the confusion and uncertainty that employees may have. 

1

2



d.     Explain how managers can be a driving force for the shic to a rural manufacturing site. [3 
marks]

Extension notes: 

 

e.     Explain how the high-risk strategy of manipula.on can be used to reduce employee  
        resistance to the shic to a rural site. [3 marks] 

Extension notes: 

1 A suitable structure when responding to “explain driving forces for change” ques5ons is to: 
 1. DEFINE the specific driving force for change. 
 2. Explain HOW the specific force is a driving force —> examples can be used here to strengthen  
 your response.

1

1 A suitable structure when responding to “explaining high-risk strategies” ques5ons is to: 

 1. DEFINE the specific high-risk strategy. 
 2. Explain HOW it can be employed by managers. 
 3. Outline how this will lead to REDUCED EMPLOYEE RESISTANCE. 

1



Ques.on 4 (5 marks) 

Explain the rela.onship between being a ‘Learning Organisa.on’, as iden.fied by Senge (1990), 
and the concept of business change. In your response, refer to two principles of Senge. 
  

  

1 When responding to “explain the 
rela5onship” ques5ons, ensure 
that you first state WHAT the 
specific rela5onship is between 
two concepts before explaining 
HOW and WHY the rela5onship 
works.

Extension notes:

3 Below are three principles that 
were not outline in the response to 
the leF and an explana5on of their 
relevance to the concept of 
‘business change’: 

• Shared Vision: the development 
of a common objec5ve for 
employees to work towards 
increases the chance of business 
change being successful in the 
long-term as employees are 
more likely to know what is 
required for change, where 
change is required and what the 
business will look like aFer 
change occurs.  

• Mental Models: breaking down 
entrenched beliefs and values 
can lead to a more flexible 
business environment. Thereby, 
increasing the chance of change 
being successful in the long-term 
as a business will be more 
adaptable when facing new 
pressures. 

• Personal Mastery: expanding 
skills and knowledge can lead to 
weaknesses being overcome. 
Thereby, increasing the chance of 
change being successful in the 
long-term as employees are 
more likely to use their newly 
found strengths to make a 
valuable contribu5on to the 
business change.

2 Remember that ALL five principles 
must be met for a business to be 
considered a ‘learning 
organisa5on’.

1

2

3



Ques.on 5 (10 marks) 

Opera.ons managers can implement a variety of opera.ons strategies in the workplace.  

Evaluate two different opera.ons strategies - one in rela.on to technological developments and 
the other in rela.on to quality management. Explain how one of these strategies can be used to 
improve the efficiency of opera.ons and one can be used to improve the effec.veness of 
opera.ons.  





Ques.on 6 (4 marks) 

Compare the training op.ons of on-the-job training and off-the-job training. [4 marks] 

Extension notes: 
1 The command term “Compare” requires students to present similari5es and differences.  

2 You can structure your response by paragraphing the similari5es and differences separately as is done in 
this responsible. Alterna5vely, you can present similari5es and differences together.

1

2

3 To elevate the general structure of your response, you should consider signpos.ng. Examples of signpos5ng 
include “One similarity is…” and “One difference is…”.

3

3



SECTION B 

Ques.on 1 (3 marks) 
Describe how P-Balls can use agreements as a method of determining wages and condi.ons for 
work. 

Extension notes: 
1 The Fair Work Commission applies the ‘Bejer Off Overall Test’ (commonly referred to as BOOT).

1

2 Note that the Fair Work Commission will set AND approve of the terms of modern awards, but only 
approve the terms of agreements. 

2



Ques.on 2 (3 marks) 
Explain the role of human resources managers in rela.on to the process of crea.ng agreements 
at P-Balls. 

Extension notes: 
1 This is a communica5on method in the dispute resolu5on method of media5on. 

1

2 The annotated diagram below is a visual representa5on which can be used to understand the roles of 
different par5cipants in the workplace during media5on:

2



Ques.on 3 (6 marks) 
Explain how one lean management principle can be used to improve the efficiency of P-Balls’ 
opera.ons in 2021. In your response, refer to ‘Figure 1’. 

1 A suitable structure for “explaining 
lean management 
principles” (specifically TIMWOOD) 
ques5ons is to: 

1. DEFINE lean management. 
2. Briefly OUTLINE the lean 

management principle you 
have chosen. 

3. Explain HOW the lean 
management principle can be 
used to reduce wastage levels, 
with reference to efficiency 

4. STATE how the level of wastage 
will be improved, with 
reference to Figure 1.   

You should repeat steps 2-4 
dependent on the number of marks 
of the ques5on!

Extension notes:

2 You should paragraph this response 
in order to limit confusion and 
improve the structure of your 
response.  

Furthermore, you should paragraph 
your responses based on the 
wastage types of TIMWOOD.

2

2

2

2

3 The strategies used to address 
wastage types are drawn from the 
opera5ons strategies learned in 
Unit 3 AOS 3. These include: 
technology development, quality 
management and materials 
management. 

3

3


Ques.on 4 (5 marks) 
Explain how the principles of Lewin’s Force Field Analysis theory can be applied to ensure that 
the introduc.on of new product lines at P-Balls is successful. 

Extension notes: 
1 Below is a flow chart that outlines each of the steps of Lewin’s Force Field Analysis theory:

Define the 
target of 
change. 

Iden5fy the driving 
and restraining 

forces for change. 

Rank the forces by order of 
priori5sa5on such that driving 

forces are promoted and 
restraining forces are restricted 

(this is to rid of the equilibrium).

Ac5on plan is 
implemented.

1



Ques.on 5 (6 marks) 
Explain the key elements of the opera.ons system of P-Balls. 

Extension notes: 

Ques.on 6 (2 marks) 
Outline one corporate social responsibility considera.on that P-Balls takes into account with 
reference to one key element in ques.on 5 and the informa.on provided. 

1 A suitable structure to respond to “explaining key elements” ques5ons is to: 
1. Define the term inputs and explain how inputs relate to the case study  
2. Define the term processes and explain how processes relate to the case study 
3. Define the term outputs and explain how outputs relate to the case study 

2 When defining the term ‘processes’, you must use the key word “transforming” as is done here. 
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